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S RARIPS = algeaiy
33 MsdE 243
el MsdE |54 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=UXE100 d=HEUSHE 22 395,248 395,248 0
Jl 142,548
Al 252,700
307 el2to| & 395,248 395,248 0
) 142,548
Al 252,700
02 QIZtEHAEE X 395,248 395,248 0
O=0HMHI0 HdFHHUSHH 29 395,248
Il 142,548
Al 252,700
Z0HS! MAQIBHEH 2H(2HEEXH) 30,000 30,000
307 glztol & 30,000 30,000
02 LB HAHE L 30,000 30,000
OFel MHASHEYH 29 30,000
Fad 5204 X3 37,280 37,280 0
= 23,040
Al 14,240
307 gl2to| & 37,280 37,280 0
=S 23,040
Al 14,240
02 QB AANEER 37,280 37,280 0
ORad s7ud 24 20,280
< 6.040
Al 14,240
ORad SRUI 17,000
= 17,000
45 AT A3 90,000 90,000 0
& 45,000
Al 45,000
307 glztol & 90,000 90,000 0
= 45,000
Al 45,000
02 2IZHBYAIHE & 90,000 90,000 0
Og3 thaz AMH3H 90,000
= 45,000
Al 45,000
d==HU2 FX U2 17,000 17,000
207 AR 17,000 17,000
01 H7ESHI 17,000 17,000
O&==HUz FX dt=24 17,000
o 243 MY 30,000 30,000 0
= 10,000




S RARIPS = algeaiy
33 MsdE 243
el MsdE |54 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 20,000
307 gl2tol & 30,000 30,000 0
=S 10,000
Al 20,000
02 QB AANSEER 30,000 30,000 0
OXd 243t A 30,000
< 10,000
Al 20,000
MU RX & 2L 10,000 20,000 10,000
201 er23| 10,000 20,000 10,000
01 At2teltl 10,000 20,000 10,000
O=HMUz =i % 82 10,000
H=U= 29 N2 3,234,650 3,260,145 N25,495
Jl 370,000
= 1,039,660
Al 1,824,990
H=AIEH HENF d=L=2U 3,300 3,300 0
307 el2tol & 3,300 3,300
04 CIZHHAMALE 2 & 3,300 3,300
ORNI232] H=AlZH HEH=F d=A=U= 3,300
A=A 2T ESSENIT NEAHUS 3,700 3,700 0
307 @I2t0| & 3,700 3,700
04 QIZHHAMAIH 2 £ 3,700 3,700
OM43] H=AIZH HEH=S d=SAE AU
3l 3,700
SFAEHH MEHS SII=U2 7,000 7,000
307 glztol & 7,000 7,000
04 IZHHAIAIY 2 X 7,000 7,000
ORNI242] H=AlZH HEH= eII=U2 7,000
HFASE 2= 25Uz 4,500 4,500
307 gl2to| & 4,500 4,500
04 QIHHAMAIH 2 £ 4,500 4,500
OHM11a HFAIEH dEHS 2=4Uz2 4,500
=AU 2UEERFEIBICICHE 8,550 8,550 0
307 212+01& 8,550 8,550
04 QIZIHAIAIH E X 8,550 8,550
ONI182l d==AIZHl 2CILF&FEIHICICHE 8,550
H=AIEH HEHs 8SSENNE J2E22H3 5,000 5,000 0
307 lztol & 5,000 5,000
04 IZHHAIAIS 2 5,000 5,000
O3l HFAISH HEHS 8512
=202 5,000




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H=AIEH 2= =W =ctolhHal 6,300 6,300
307 elztol & 6,300 6,300
04 QIZHHAMALH 2 & 6,300 6,300
ON212l HFAIZH HEH = d=1H2t
oIzl 6,300
SFAISH HEHF =sISUH 4,000 5,000 A 1,000
307 212+01& 4,000 5,000 21,000
04 QIZHHAMAIH 2 £ 4,000 5,000 A1,000
ONI133l HFAITH HEHS =sIISUH2 4,000
HE=AIZH HEHF =420 E2EUZ 9,000 9,000 0
307 elztol & 9,000 9,000
04 QIZIHAIAIRH 2 X 9,000 9,000
O 1281 HFAIZH MEHSF +4270820]
2= 9,000
=AU HEHS A AU 7,650 7,650 0
307 el2to| & 7,650 7,650
04 QIZHHAIAIH 2 £ 7,650 7,650
ORMI92 H=AlZH HEH= AHAIUS 7,650
A=A EHF E=S220AAH 01U 9,500 9,500 0
307 @I2t01 & 9,500 9,500
04 QIZHHAIAIH E X 9,500 9,500
ORNI212] HF=AIZH HEH=F d=532UA
AHOIE U= 9,500
A=A d2Hs A= 28s2U2 9,400 9,400
307 elzto| & 9,400 9,400
04 CIZHHAMAIH 2 & 9,400 9,400
ON2zl dF=ASH 2= d=US2E
STUE 9,400
AT HEH=F LOEOICHE 5,000 5,000
307 @I2t01 & 5,000 5,000
04 QIZHHAMAIH 2 £ 5,000 5,000
ON123] MFAISH HEH= SOIEHITH= 5,000
AT MEXS LHISZOE 4,000 5,000 A1,000
307 glztol & 4,000 5,000 A1,000
04 QIZHHAMAIRH 2 X 4,000 5,000 21,000
ON122l HFAISH H2H S LEI=Z02 4,000
H=AI S HEME AIA =23 14,400 14,400 0
307 212t01™ 14,400 14,400
04 CIZIHAMAME 2 & 14,400 14,400
OM202 8=AIZH HEHT AI@AEEE
CHal 14,400
AT HEHS A2AAZHU 2 3,600 4,500 2900
307 212+01™ 3,600 4,500 A900




2A:
PSR
ool

SA - ZE - B2(30) - HRAS of v e HIDE2
04 QIZHHAMAIH 2 & 3,600 4,500 2900
ORI 128] HFAIZH BT 2212200
2l 3,600
H=AIEH HEMF =203 6,000 6,000
307 @120l & 6,000 6,000
04 QIRHHAMAIH 2 £ 6,000 6,000
OHMI18al MFAIYHH dEHE == 6,000
H=AIEH HEMS &= S203 9,500 9,500
307 212+01& 9,500 9,500
04 QIZHHAIAIH E X 9,500 9,500
ONz7al A H2Hs 8= U2 9,500
A MEH= S0 10,000 10,000 0
307 elztol & 10,000 10,000
04 CIZHHAMAIH 2 & 10,000 10,000
OHN223|l AT dEHMSE U3 10,000
A=A 2= ISSENZY 280|102 4,500 4,500 0
307 @120l & 4,500 4,500
04 QIHHAMAIH 2 £ 4,500 4,500
ORM212] dF=AIEH 25 A5 =8
Jlti =l 4,500
H=AIEH HENS =AU 4,000 5,000 A1,000
307 glztol & 4,000 5,000 A1,000
04 QIZHHAIAIRH 2 & 4,000 5,000 21,000
ORNI262] H=AlZH MEHF d=HAU 4,000
SFAISHE HEHS HASZHE 5,760 5,760
307 212t01™ 5,760 5,760
04 CIZHHAMALE 2 & 5,760 5,760
ON9al MFAIEU &= WIA=ZU= 5,760
S=AEE 2 HEMHES ZHUS 10,000 10,000
307 @I2t01 & 10,000 10,000
04 QIZHHAMAIH 2 £ 10,000 10,000
ORNI2 HF=AIZH LelItet dEHx 3:
tHal 10,000
H=AIEH 2= & SotE= 8,550 8,550 0
307 glztol & 8,550 8,550
04 QIZHHAMALH 2 & 8,550 8,550
ON212l HFAISH HEH= T4 S0t
2l 8,550
H=AIEHE HEHS 0128 HOIESUHI € od & 10,000 10,000 0
SRAE HOIEZUZ
307 21201 & 10,000 10,000
02 QB HANEER 10,000 10,000




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ON2l HFAIZH HEHS 024 HOIE
=03 & X192 od & FRAEHOIE=U
2 10,000
H=AIZH IULHHE 7,000 7,000 0
307 el2to| & 7,000 7,000
04 QIRHHAIAIH 2 £ 7,000 7,000
OXNi8al &F=AIZH 2ItHE 7,000
H=AEH 8SEEXUX T Ol=HUAME 6,000 6,000 0
307 @I2t01 & 6,000 6,000
04 QIZIHAIAIH E X 6,000 6,000
ON202| H=AZH &= Ol=HILIANZ 6,000
BFAITHH HEH S HAATXYZ 5,000 5,000
307 212t01™ 5,000 5,000
04 IZHHANAIS 2 5,000 5,000
ON1228l HFAISH HEH =S HAALR]Y
3 5,000
=AU f77U2 5,000 5,000
307 @20l & 5,000 5,000
04 QIZHHAMAIH 2 £ 5,000 5,000
OMIbal HZ=AIEHH 2743 5,000
S NEZ &2l =8 X2 5,000 5,000 0
307 212+01& 5,000 5,000
02 2B HAHE L 5,000 5,000
02025 S NEZ delzl 28 K& 5,000
HFAY)| = 243w =3 0F2U2 6,000 6,000 0
307 elzto| & 6,000 6,000
04 CIZHHAMALRH 2 & 6,000 6,000
OHMN17al EFAIFI| 8= 2588t =&
Or2CHal 6,000
A U= 4,500 4,500 0
307 21201 & 4,500 4,500
04 QIZHHAMAIH 2 £ 4,500 4,500
ON233| HFAIZH L& 4,500
HFAEE =557 & F2ESEUHE =202 17,000 17,000
307 212t01™ 17,000 17,000
04 QUZFSHAAIE 2 2 17,000 17,000
ORM203| H=AZH =S=F0HE & M43
FAE28UE =202 17,000
A L AFAEH SHESE W3 14,000 14,000
307 gl2to| & 14,000 14,000
04 QIHHAMAIH 2 £ 14,000 14,000
OM3R2a HFAIFI| & M222l MF=AIEE &
H=EUz 14,000




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HFAIEI| Seti=l 4,500 4,500
307 elztol & 4,500 4,500
04 QIZHHAMALH 2 & 4,500 4,500
OHMI123] A S&THE 4,500
A AZEHILIAHS 5,400 5,400
307 212t01 & 5,400 5,400
04 QIHHAIAIH 2 £ 5,400 5,400
OM143] M=AIZH AZEHILIACHS 5,400
HF=AIEH =0 5,000 5,000 0
307 212+01& 5,000 5,000
04 QIZHHAIAIH E X 5,000 5,000
ORNI222] H=AIEH sd=U3 5,000
A=Al EH E=0t0HHH=HE 10,000 10,000 0
307 elztol & 10,000 10,000
04 QIZHHAMAMH 2 & 10,000 10,000
ON202 &Z=AIEHH &=0t0tHt=CHEl 10,000
A s72U = 7,290 7,290
307 gl2tol & 7,290 7,290
04 QIHHAMAIH 2 £ 7,290 7,290
ORMI23a] d=AIEH sU3E 7,290
HFAEH 8=22530 024 §1U3E 12,200 12,200
307 212+01& 12,200 12,200
04 QIZHHAIAIH E X 12,200 12,200
ON3Re HFATH M=2ESS2 & HE
ol EF-_rLEHgl 12,200
A === 8,000 8,000 0
307 elztol & 8,000 8,000
04 CIZHHAMALE 2 & 8,000 8,000
ON292l dF=AIZH R=0H2 8,000
HFAEI] 85 AU 7,000 7,000 0
307 @120l & 7,000 7,000
04 QIZHHAMAIH 2 £ 7,000 7,000
OR8] MF=AIFD| = EHAZHS 7,000
HFAEEH 2 S EH dILIANE 7,250 7,250 0
307 lztol & 7,250 7,250
04 QIZHHAIAIRH 2 & 7,250 7,250
ON3R2a M=AIZHH & M222| 3| EHH HIL
AHE 7,250
HFAIED| HEHF HELEUS 9,500 9,500
307 el2to| & 9,500 9,500
04 QIHHAIAIH 2 £ 9,500 9,500
OHM3Ba HFAIFI| d2HS =S 9,500




2A:

N HSAE &5
=Rl M=ta 29 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=AU S U 203 10,000 10,000
307 elztol & 10,000 10,000
04 QIZHHAMALH 2 & 10,000 10,000
OM292| H=AlZH S il 10,000
A S2U = 9,000 9,000
307 gl2to| & 9,000 9,000
04 QIHHAIAIH 2 £ 9,000 9,000
ORMIZBal EF=AEI| SRUE 9,000
SFAIEH RAEOAHS =HHE 6,000 6,000 0
307 212+01& 6,000 6,000
04 QIZHHAIAIH E X 6,000 6,000
OHM215] MAIEHH =SS 6,000
HFAIEI| SHUE 4,000 5,000 21,000
307 elztol & 4,000 5,000 21,000
04 QIZHHAMAMH 2 & 4,000 5,000 1,000
OHNBal =AIEI| a3 4,000
HdSSHHOEWD 2 7,000 7,000
307 gl2tol & 7,000 7,000
02 QA AAEE X 7,000 7,000
ORNI3Be| dSSAM0tEH =8 7,000
e SF0A 28 7,000 7,000
307 212+01& 7,000 7,000
02 LB HANHEE 7,000 7,000
OFds F2UY 29 7,000
HEEENXNELHMSUHE =8 233,040 229,925 3,115
307 elztol & 233,040 229,925 3,115
02 2IZHBHAIHE & 233,040 229,925 3,115
OHNeoal HMet==2IHSHal 28 233,040
=M S 28X 14,500 14,500 0
307 212+01& 14,500 14,500
02 QIS EX 14,500 14,500
O&=M& S &&X& 14,500
M=t E8XE 69,000 68,000 1,000
301 22N = 15,000 15,000 0
14 JIEt2 = 15,000 15,000 0
O&= ZoHM=U XX 15,000
307 elztol & 54,000 53,000 1,000
02 2B YA E X 54,000 53,000 1,000
OHSSEAXE =0t MEi 28 7,000
OMSSEXNXE AME MEUl &8 6,000
OXSSENXT HoHHM=Ha =8 41,000




A MO
i YSEIE BM5
X

=2 o
ol M=slial 22

I (et &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A=A ZH 0 dEH=S &U= 5,000 5,000
307 elztol & 5,000 5,000
04 QIZHHAMALH 2 & 5,000 5,000
OHTAIZH oo d&Ms §-2U2 5,000
=AU S=e OF2UE 6,000 6,000
307 gl2to| & 6,000 6,000
04 QIHHAIAIH 2 £ 6,000 6,000
OXFAIEH Sz oF2 U=l 6,000
d=0gd=5-2U32 &M 2,500 2,500 0
307 212+01& 2,500 2,500
04 QIZHHAIAIH E X 2,500 2,500
O&=0dE52U3 EX 2,500
d=FAlQle 2HZ S ?let 29| S 2,700 2,700 0
307 elztol & 2,700 2,700
04 QIZHHAMAMH 2 & 2,700 2,700
OHFAIRIS HH= RAst 2G| 2 2,700
clE0E X2 20,000 20,000
307 gl2tol & 20,000 20,000
02 QA AAEE X 20,000 20,000
OclE0rE X3 20,000
d=12d2EE80e 28 1,600 2,000 A400
307 212+01& 1,600 2,000 A400
04 QIZHHAIAIH E X 1,600 2,000 2400
O&=c2E==Ms &4 1,600
HFE2E FHMEHHEEU= 100,000 100,000 0
= 100,000
307 @I2t01 & 100,000 100,000 0
[ 100,000
04 QIZIHAIALE 2 & 100,000 100,000 0
OHF2LE =MEHA =3 100,000
= 100,000
&= EeletelotetEl 2l 200,000 200,000 0
= 100,000
Al 100,000
307 el2to| & 200,000 200,000 0
= 100,000
Al 100,000
04 QIZHHAMAIH 2 £ 200,000 200,000 0
O&= FCeletolitetEHs! 200,000
== 100,000
Al 100,000
H=2E20tE0tEWS 43,000 55,000 212,000




S RARIPS = algeaiy
33 Msds 243
=Rl M=ta 29 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 25,000
Al 18,000
307 lztol & 43,000 55,000 A12,000
= 25,000
Al 18,000
04 CIZHHAMAMH 2 & 43,000 55,000 A12,000
OH=FRIIE0IeHEWR 43,000
= 25,000
Al 18,000
SNSRI 2| E=SUA0IZ2US 75,000 90,000 15,000
< 25,000
Al 50,000
307 212+01& 75,000 90,000 A15,000
& 25,000
Al 50,000
04 CIZHHAMAIRH 2 & 75,000 90,000 15,000
OSSR 2| A=SHUALOIZ2U
2l 75,000
= 25,000
Al 50,000
det=0ts d=HEEHE 50,000 50,000 0
== 15,000
Al 35,000
307 212+01& 50,000 50,000 0
< 15,000
Al 35,000
04 QIZHHALAIS 2 X 50,000 50,000 0
O Fe=0ts A== UR 50,000
= 15,000
Al 35,000
dxet=0te d=dH S35 ti2ial 71,500 71,500 0
=S 13,000
Al 58,500
307 21201 & 71,500 71,500 0
< 13,000
Al 58,500
04 QIZHHAIAIRH 2 X 71,500 71,500 0
O Fet=0ts =g S U3 71,500
= 13,000
Al 58,500
HEB=0IE AEXZ20|YS 50103 45,000 45,000 0
= 15,000
Al 30,000




2A:

33 Msds 243
el dste 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 45,000 45,000 0
= 15,000
Al 30,000
04 CIZHHAMAMH 2 & 45,000 45,000 0
OXFE=20ts AX=2H0I1LSS IS 45,000
= 15,000
Al 30,000
dzet=0te d=H=EU2 40,000 40,000 0
< 20,000
Al 20,000
307 elztol & 40,000 40,000 0
& 20,000
Al 20,000
04 IZHHAIAIS 2 40,000 40,000 0
odFet=0ts d=Ht=U2 40,000
= 20,000
Al 20,000
HEE stiteg d=Z=408 40,000 40,000 0
s 20,000
Al 20,000
307 212+01& 40,000 40,000 0
[ 20,000
Al 20,000
04 QIZHHAIAIS 2 X 40,000 40,000 0
O0i=d stitd =542 40,000
= 20,000
Al 20,000
det=0ts dENs d=0dE57Uz 13,100 14,000 2900
= 5,000
Al 8,100
307 @120l & 13,100 14,000 A900
== 5,000
Al 8,100
04 QIZIHAIAIH E X 13,100 14,000 A900
OX=et=0ts d2Hs 80457203 13,100
< 5,000
Al 8,100
S E=AFHAA=2UE 35,000 35,000 0
= 10,000
Al 25,000
307 gl2to| & 35,000 35,000 0
= 10,000
Al 25,000




2A:

X XH -
o=

Sa = (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

04 IZHHAIAIS E X 35,000 35,000 0
O3 EH M=AHAL=AE 35,000
= 10,000
Al 25,000

Oet=2 gl gt d=22s 75,000 105,000 /30,000
s 25,000
Al 50,000

307 21201 & 75,000 105,000 30,000
< 25,000
Al 50,000

04 QIZHHAIAIRH 2 X 75,000 105,000 /30,000
olst=gE2dtl d==22Uz 75,000
S 25,000
Al 50,000

IEEarShe PSEFSES E LSS 42,000 40,000 2,000
S 12,000
Al 30,000

307 @120l & 42,000 40,000 2,000
s 12,000
Al 30,000

04 QIZHHAIAIH E X 42,000 40,000 2,000
OXFHLE d=glEH=s=U3 42,000
[ 12,000
Al 30,000

NS &===8Ual 120,000 125,000 25,000
= 20,000
Al 100,000

307 el2to| & 120,000 125,000 /5,000
S 20,000
Al 100,000

04 QIZHHAMAIH 2 £ 120,000 125,000 25,000
ousgtl d=+=3U3l 120,000
== 20,000
Al 100,000

d=Z el 50,000 65,000 A15,000
= 10,000
Al 40,000

307 elztol & 50,000 65,000 215,000
= 10,000
Al 40,000

04 QIZHHAIAIH 2 £ 50,000 65,000 15,000
OXIASHUE U 50,000
=S 10,000




SN RISAD
33 Msds 243
=Rl M=ta 29 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 40,000
OlAIOH B4 H= d=2U2 165,000 0 165,000
Jl 70,000
= 50,000
Al 45,000
307 gl2to| & 165,000 0 165,000
Jl 70,000
= 50,000
Al 45,000
04 CIZHHAMALRH 2 & 165,000 0 165,000
OO0IAIOF B4 HE d=2l3 165,000
) 70,000
< 50,000
Al 45,000
SIS E d=aHAATMSZASE] & Sl 20,000 20,000 0
MEBHSHAATX S
< 10,000
Al 10,000
307 @120l & 20,000 20,000 0
== 10,000
Al 10,000
02 LB MAHEE 20,000 20,000 0
OUetM =2 & d=aHAATMS=ZUY
3 & SEH HEMSHAAT XY 20,000
= 10,000
Al 10,000
ZelotE FX=U3 119,440 82,880 36,560
= 94,060
Al 25,380
307 @20l & 119,440 82,880 36,560
s 94,060
Al 25,380
04 QIZHHAIAIH E X 119,440 82,880 36,560
OZI0RE FH =3 119,440
[ 94,060
Al 25,380
Y=S SSEHMIDIE =HBH=EU 50,000 40,000 10,000
= 50,000
307 212+01™ 50,000 40,000 10,000
[ 50,000
04 QIZHHAIAIH 2 £ 50,000 40,000 10,000
o= SYLMIOIE SMUHELIE S 50,000
=S 50,000




2A:

X XH -
o=

ik = (el ®9)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

AU wEEH dIEHAUS 150,000 190,000 40,000
& 100,000
Al 50,000

307 212+01™ 150,000 190,000 A40,000
& 100,000
Al 50,000

04 QIZHHAIAIE E X 150,000 190,000 A40,000
OXFUHENSEH MIEHAZUS 150,000
& 100,000
Al 50,000

dFsr20le ML E72U3 85,000 85,000 0
= 30,000
Al 55,000

307 212+01 A 85,000 85,000 0
& 30,000
Al 55,000

04 QIZHHAIAIRIE & 85,000 85,000 0
OX=et=20t2 d=0HEE2UE 85,000
& 30,000
Al 55,000

d==2 M E4AE SE0E 59,920 71,000 211,080
= 29,000
Al 30,920

307 212+01 A 59,920 71,000 A11,080
& 29,000
Al 30,920

04 QIZIHAIAIRIE X 59,920 71,000 211,080
OXd=g N LY REU 59,920
& 29,000
Al 30,920

A=Al 212 dITHLIIE=EU3 30,000 30,000 0
= 5,000
Al 25,000

307 QIZt01 A 30,000 30,000 0
= 5,000
Al 25,000

04 CIZISHAIAIRIE & 30,000 0 30,000
ON=FAl 210 d=F0MAUIITISZ3] 30,000
& 5,000
Al 25,000

et il d=2s3sE s 50,000 50,000 0
& 10,000
Al 40,000




S RARIPS = algeaiy
N HSAE &5
=Rl M=ta 29 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 @I2t0| & 50,000 50,000 0
= 10,000
Al 40,000
04 CIZHHAMAMH 2 & 50,000 50,000 0
OXctzgtl d=s320d2Ual 50,000
= 10,000
Al 40,000
NE=HM=EZ0 =2l & 2,500 2,500 0
307 212+01& 2,500 2,500
04 QIZIHAIAIH E X 2,500 2,500
OME=N=S A= =H 2,500
Ol=tl dFdS EHS0AHAR 400,000 0 400,000
Jl 300,000
== 100,000
307 elztol & 400,000 0 400,000
) 300,000
< 100,000
04 QIHHAIAIH 2 £ 400,000 0 400,000
OO0l st dFd== FEBS0IAHAUS 400,000
Il 300,000
= 100,000
HF==LIO0I0IAB 21 A(UH) =S H 50,000 0 50,000
& 25,000
Al 25,000
307 glztol & 50,000 0 50,000
= 25,000
Al 25,000
04 QIZHHAMALH 2 & 50,000 0 50,000
OFXF=FLIN0t0I Aok 2 D(UH) 2SS A 50,000
= 25,000
Al 25,000
H==Et=0t=0] OFAE A5060 & =F72U2 50,000 0 50,000
[ 25,000
Al 25,000
307 lztol & 50,000 0 50,000
= 25,000
Al 25,000
04 CIZHHAMAIH 2 & 50,000 0 50,000
ON==er=20t=t OtAEHAS060 82503 50,000
= 25,000
Al 25,000
HF=20=H AILIO 28 d=8UEtl2U=l 49,000 0 49,000
== 11,000




SA: RIS
M HSVE 2L
ool FZ0E 2 X

= EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 38,000
307 BI2H0I & 49,000 0 49,000
< 11,000
Al 38,000
04 DIFHAIAII S X 49,000 0 49,000
ONZFSDEH AILIO A M2
3 49,000
= 11,000
Al 38,000
KBA 3X3 KOREA Tour Final in 8= 30,000 0 30,000
= 20,000
Al 10,000
307 BI2H0I & 30,000 0 30,000
< 20,000
Al 10,000
04 BIZFHAIAIIE X 30,000 0 30,000
©OKBA 3X3 KOREA Tour Final in &M= 30,000
[ 20,000
Al 10,000
ANBIRZe 2 NSRBI MRSMEEATHLAY 110,000 0 110,000
3
= 40,000
Al 70,000
307 2I2H0| & 110,000 0 110,000
= 40,000
Al 70,000
04 DIFHAIAII S X 110,000 0 110,000
ONBIRER 2 NSRRI MI2stMEE
AT AT 110,000
= 40,000
Al 70,000
2EOIQIBHDI SN LU 3 50,000 0 50,000
= 25,600
Al 24,400
307 2I2H01 & 50,000 0 50,000
< 25,600
Al 24,400
04 DIFHAIAII S X 50,000 0 50,000
OHIEONCIBHIISEN RT3 50,000
< 25,600
Al 24,400
HESHUNRE MEUSHE &8 30,000 0 30,000
307 212H0| & 30,000 0 30,000
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&
23S 243
MEH =S 243 KJ T R )
SA - BB - SRI(SIH) - KISAKY - A HIm=S2t
28t MBI XIS X 427,473 415,903 11,570
| 161,980
Al 265,493
307 212+01 A 427,473 415,903 11,570
| 161,980
Al 265,493
02 QIZHAAAIEE R 427,473 415,903 11,570
OXNERN 2 ¥ HERES 323,960
J| 161,980
Al 161,980
OXNEX =< 103,513
AE MK XIS BEXI 41,812 40,588 1,224
| 16,198
Al 25,614
307 212+01 ™ 41,812 40,588 1,224
| 16,198
Al 25,614
02 QIZHBAAIHE R 41,812 40,588 1,224
OXNERN 2 ¥ HERES 32,3%
J| 16,198
Al 16,198
OXNEX =< 9,416
HEal M S HiX 469,785 456,600 13,185
| 178,178
Al 291,607
307 212+01 A 469,785 456,600 13,185
| 178,178
Al 291,607
02 QIZtBAAIHE R 469,785 456,600 13,185
OXNERN 2 ¥ HERES 356,356
| 178,178
Al 178,178
OXNEX =< 113,429
SiolTel g3 MEXsSZ2 0 2% 35,000 48,000 13,000
& 15,000
Al 20,000
307 212+01™ 35,000 48,000 A13,000
& 15,000
Al 20,000
02 QItBAAIH E X 35,000 48,000 13,000
OfstelZel &2 MEXsEz e 35,000
T 15,000
Al 20,000




S RARIPS = algeaiy
33 Msds 243
el MBS 243 X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEHNSLY 29 175,678 165,678 10,000
= 42,806
Al 132,872
307 el2to| & 175,678 165,678 10,000
= 42,806
Al 132,872
02 QIZtEHAEE X 175,678 165,678 10,000
odEHsEud 29 175,678
s 42,806
Al 132,872
Al HOHQ MEH=SWA 18,000 18,000
307 glztol & 18,000 18,000
02 LB HAHE L 18,000 18,000
O&==Al B0 HHSWA 18,000
0l HEMFKI=AL i 374,414 353,949 20,465
) 145,773
< 72,886
Al 185,755
307 lztol & 374,414 363,949 20,465
Il 145,773
== 72,886
Al 155,755
02 LB AANHEE 374,414 363,949 20,465
OXNEL 20 & HHRE= 291,546
Jl 145,773
=S 72,886
Al 72,887
OXNEX =& 82,868
HEWE S22 =24 334,743 324,743 10,000
= 32,402
Al 302,341
307 el2tol & 334,743 324,743 10,000
= 32,402
Al 302,341
02 2B YAIHE A 334,743 324,743 10,000
OsHE =221 =28 200,000
OdEN=E sseleld 29 134,743
& 32,402
Al 102,341
HENSZE N 24 419,650 361,600 58,050
= 73,920
Al 345,730
307 el2tol & 419,650 361,600 58,050
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A M
M MsEE 2435t
Chel: MENs 245 Ad (St &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
01 MBI BEAG6Z2(2DEXTHA) 452,760 347,160 105,600
OFHAUAZ=LH0|ER XA 452,760
| 316,932
= 67,914
Al 67,914
HdSAZEZSYE 2IX& 50,000 50,000 0
& 15,000
Al 35,000
307 QI2Hol M 50,000 50,000 0
& 15,000
Al 35,000
02 QItBAAIHE R 50,000 50,000 0
ONMSAZ=ZY 2K 50,000
& 15,000
Al 35,000
HFHIMAZXZYH 2HAA 40,000 45,000 25,000
& 12,000
Al 28,000
307 QI2H0l A 40,000 45,000 25,000
& 12,000
Al 28,000
02 QIRHHAAIHE X 40,000 45,000 A5,000
OWFHIMALZ=ZY 2IXA 40,000
= 12,000
Al 28,000
d=AET=ZSYH 2FXA 55,000 50,000 5,000
= 12,000
Al 43,000
307 QI2H0| M 55,000 50,000 5,000
& 12,000
Al 43,000
02 QIRHHAAIHE X 55,000 50,000 5,000
QWFALXZY 2L 55,000
& 12,000
Al 43,000
SHMSOHE 57,920 57,920 0
| 25,280
& 8,000
Al 24,640
30 HES 57,920 0 57,920
| 25,280
& 8,000
Al 24,640




SN HSAAD
My JSxE 243
ol MBS 2A X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 SAL- SHEYTES 57,920 0 57,920
Ot s0tME 57,920
Jl 25,280
< 8,000
Al 24,640
M= 243t 21,825,837 42,700,440 A20,874,603
Jl 2,700,000
= 730,000
Al 16,395,837
H 3,000,000
HE=MEAE XA 21,825,837 42,700,440 A20,874,603
7l 2,700,000
= 730,000
Al 15,395,837
H 3,000,000
3=y szl 100,000 80,000 20,000
201 er2&| 20,000 10,000 10,000
2 s5=34l 20,000 10,000 10,000
ouaz=td sAi2c| 20,000
401 Al HIZ S 0HbI 80,000 70,000 10,000
01 AlZ2H| 80,000 70,000 10,000
omza=nLd X2 80,000
3 dUidsa A8 3,000,000 7,500,000 24,500,000
H 3,000,000
401 AIEHIX 20HH 3,000,000 7,500,000 24,500,000
H 3,000,000
01 Al&H| 3,000,000 7,500,000 24,500,000
Od= dUMs2 HE 3,000,000
H 3,000,000
H=AlE RX2el 220,000 216,000 4,000
201 el 220,000 216,000 4,000
2 35244l 220,000 216,000 4,000
OMSEAIE FAl2c 19,500
OHUN=Z HF= 200,500
HFAE2SE ALY HES 12,609,839 12,240,000 369,839
309 HES 12,346,939 12,000,000 346,939
01 SAL- SHIHYHES 12,346,939 12,000,000 346,939
ONM=EAE2SH 2EXEH 12,346,939
404 SANBHIAI=HES 262,900 240,000 22,900
01 BAl- SEHIH=HES 262,900 240,000 22,900
ONMSFAE2SH AL 262,900
HFAE |22 100,000 100,000 0




2A:

E M

M=ok

ot
H= 2435t

ol MsAEAE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 100,000 100,000
01 Al&H| 100,000 100,000
ONMSAIE cl22d 100,000
g Ol MSME AE 3,200,000 2,700,000 500,000
) 2,400,000
= 700,000
Al 100,000
401 Al HIZ 2018 3,200,000 2,700,000 500,000
Jl 2,400,000
[ 700,000
Al 100,000
01 Al&HI 3,200,000 2,700,000 500,000
Og=d Ll MSHE AHE 3,200,000
Il 2,400,000
== 700,000
Al 100,000
= SPAXXER =Y X4 267,000 9,000,000 A8,733,000
401 AIEHIZL =20 267,000 9,000,000 A8,733,000
01 Al&H| 267,000 9,000,000 8,733,000
OXF SEAEXEIR =UHE =4 267,000
S Al ERE SEHLS A 30,000 30,000
401 A& HIX R0 30,000 30,000
01 AlZH| 30,000 30,000
OSHE+=X HF1E SFNLSA 30,000
SR SHAINM 100,000 0 100,000
401 AIEHIZ SR 0HYI 100,000 100,000
01 AlZ8| 100,000 100,000
OH2+g& atFHA 100,000
daZINE dSAAE WA 263,998 1,050,000 A786,002
401 AIEHIYL S HE 263,998 1,050,000 A786,002
01 Al&H| 263,998 1,050,000 786,002
OdaBIY dSAAE WKl 263,998
SESHEAE E2E AZN0 WHSA 600,000 0 600,000
) 300,000
Al 300,000
401 Al HIZ S OHYI 600,000 0 600,000
Il 300,000
Al 300,000
01 Al&HI 600,000 0 600,000
OSSHEAIE =RF AXIC WHSA 600,000
Jl 300,000
Al 300,000




S RARIPS = algeaiy
Hu: fs 245
ol MsAEAE X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1018 MSAELSEX 22HE = 350,000 200,000 150,000
401 Al HIZL 201 360,000 200,000 150,000
01 Al&HI 350,000 200,000 150,000
OFIIDIEY WSALSA 2c/H= 8 350,000
SHAEA IIF=2d &Y 300,000 300,000
401 Al HIYL S CHYI 300,000 300,000
01 A28l 300,000 300,000
OSMTAl IIE2H &=y 300,000
2 3= =4 455,000 0 455,000
308 AHXIHMSO0IA 455,000 455,000
07 AX 2L FE= 455,000 455,000
OFHF IIA28F (VAT ZEH
=) 455,000
SHIEZ0IMSHE AIZIHEZAHEEAIY) 180,000 0 180,000
401 Al HIZ 01| 180,000 180,000
01 Al&H| 180,000 180,000
OStHIE=CIMSHE AEZHE S A 180,000
CUDIE SEMSHE AIERA 20,000 0 20,000
401 AlZHIZ SO 20,000 20,000
01 A28l 20,000 20,000
CUDIS RUHSHE AL 20,000
SLOIMSE &0 ATH A (Z F0{04) 30,000 0 30,000
& 30,000
401 Al HIZ S OHbI 30,000 0 30,000
s 30,000
01 Al&H| 30,000 0 30,000
O=UWIISSH &L AT At 30,000
= 30,000
SgAELXEZ X4 29,000,000 16,100,000 12,900,000
Jl 2,700,000
Al 26,300,000
SSAUXER &4 29,000,000 16,100,000 12,900,000
Il 2,700,000
Al 26,300,000
33 S4301E & o1& A 13,800,000 7,600,000 6,200,000
401 AIEHIZ SR 0HYI 13,800,000 7,600,000 6,200,000
01 Al&HI 13,800,000 7,600,000 6,200,000
O FaZJIE & o 2E 13,800,000
HF SAAD|E A O ZMEH S HBEEL 15,200,000 8,500,000 6,700,000
Jl 2,700,000
Al 12,500,000
401 AlEHIZ S 0HYI 15,200,000 8,500,000 6,700,000




2A: Msard
Hu: SHAZXEE X4
o SEALIXER &4 (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 2,700,000
Al 12,500,000
01 Al&HI 15,200,000 8,500,000 6,700,000
OFFE SHAIIF AYOIZMEHS N
BHaH) 15,200,000
J| 2,700,000
Al 12,500,000
MY 2IZHI(MFAL D) 56,314 51,160 5,14
Jl2dul(MsarE D) 56,314 51,160 5,14
Jl2Zdl(dsarein) 56,314 51,160 5,14
201 LB-2AY| 33,512 28,990 4,522
01 AtR2elt] 28,512 23,990 4,522
OYet=ZH| 14,256
O=hl 14,256
02 S=29| 5,000 5,000 0
Ot | 5,000
202 44| 19,562 18,570 92
01 =2LHO4 ] 19,562 18,570 992
OJ |28 RF=&0] 19,562
203 PYRF=&Y| 3,240 3,600 A360
M 2GR FALI 3,240 3,600 A360
ORNZIURFEH

270,000& * 128 3,240




